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, B i i) = % =
£ &£ [1,015.2 14.3 18.6 10.9 34.1(—)4.6 15.9 76 1,826.6 73.5 26.1 3.6FEILFE 6.6 2,174.6
1 H 11,0201 50 9.2 1.3 15.4(—)4.6 6.0 71 30.6 10.4 3.2 3.57ILFE 5.5 172.4
2 B |1,020.0 4.0 82 0.8 13.1(—)2.7 5.3 68 63.8 26.5 7.5 3.97IFE 6.3 156.3
3 B |1,016.6 5.3 10.4 1.2 16.9(—)3.9 7.3 67 66.4 38.9 7.4 4.2 74 5.7 223.9
4 B 11,017.0 13.2 18.2 9.0 24.2 0.3 14.7 73 109.7 21,8 8.2 3.7PEALFE 6.3 204.5
5 B |1,013.0 16.5 20.5 13.0 24.2 5.0 18,1 76 212.2 45.9 14.0 4.0 7 7.1  191.4
6 A |1,009.2 20.6 24.6 17.6 31.2 11.5 22.1 80 204.9 50.0 12.6 3.5 7§ 7.8 177.4
7 B | 1,008.3 24.5 27.7 22.1 34.1 19.3 25,7 86 253.4 45,3 14,5 3.0 FA¥E 8.6 126.9
8 A |1,010.1 26.2 29.7 23.7 32,9 16.2 28.3 85 148.4 25,0 20.3 4.2 FEE 6.5 225.5
9 B [1,012.7 20.5 24.3 17.9 30.3 12.8 22.9 82 530.4 73,5 26.1 3.3 ¥§ 8.3 107.2
10 B |1,016.1 16.3 21.6 12.3 26.1 4.9 18.2 75 66.6 42.8 11.5 2.9 @ 5.4 222.9
11 B [1,020.9 12.3 17.4 8.2 21.8 2.8 13.4 73 72.1 20.6 5.8 3. 174 5.0 2059
12 B 11,018.8 9.6 11,9 3.5 15.2(—)1.9 8.6 73 68.1 21.4 4.4 3.474tF 6.4 160.3

B ® #l & AT
& &£ |1,014.7 15.0 19.6 10.8 35.1(—)4.1 76 3,871.1 226.2 53.2 2.0 @ 6.1 1,996.4
1 B |1,019.0 6.5 12.1 1.8 20.4(—)3.8 66 64.4 23.9 6.2 1.8 7§ 4.3 188.1
2 B [1,019.4 4.9 9.9 0.4 158(—)4.1 67 124.9 41,9 7.9 2.0 7§ 5.3 168.7
3 A 1,057 7.1 12.6 2.2 18.2(—)3.0 # 60 85.0 51.5 10.7 2.5 & 5.2  228.2
4 A |1,016.5 14.3 19.7 9.2 27.3(—)0.9 73 194.4 37.0 14.9 2.0 7§ 6.1 189.4
5 A |1,012.5 16.9 21.5 12.4 28.0 4.2 P 80 374.1 82,7 32.6 2.0 7§ 6.8 182.6
6 A 11,009.1 20.3 24.0 16.7 28.6 10.0 83 433.3 110.5 26.6 1.9 & 7.7  150.4
7 A 11,0081 24.8 27.6 22.1 351 18.6 7z 87 273.2 56.4 21.1 1.8 E 8.5 134,2
8 B 11,010,0 25.9 29.0 23.0 32.6 18.9 88  722.6 169.2 47.5 2.4 . 6.8 151.2
9 A |1,012.0 30.8 24.1 18.4 28.6 11.9 L 83 1,090.3 226.2 53.2 1.7 ¥ 9.0 67.3
10 A |1,015.7 16.8 22.3 12.5 27.3 5.1 77  133.6 85.3 26.9 1.9 T 5.1 199.5
11 A 11,020.8 13,2 18.9 8.5 22.9 3.6 78  228.4 70.6 10.3 1.7 7§ 4.8  169.6
12 A |1,017.3 8.4 13.3 3.6 22.9(—)0.9 73 146.9 45,9 14.1 2.1 7 4.1 167.2

& i il & 2
£ £ [1,015.2 14.3 18.8 10.5 34.6(—)4.9 75 2,006.0 74.0 29.8 3.6FEILFE 6.7 20,19.4
1 A 11,019.5 4.8 9.1 1.0 15,9(—)4.9 70 33.4 8.5 1.7 44747 6.0 160.4
2 A 11,020.1 3.6 7.7(—)0.5 11,8(—)4.2 66 75.0 23.5 6.5 5. 07IFE 6.6 137.8
3 A [1,016.5 5.7 10.1 0.9 18.2(—)4.5 % 68 79.3 39.7 5.8 5 07EAGE 6.3 200.2
4 A 11,017.0 13.4 19.1 8.7 24.2(—)0.4 69 144.7 28.9 10.0 3.774LEm 6.5 197.2
5 A |1,013.0 16.2 20.7 12.5 27.5 4.4 75  214.7 57.2 11.5 4,074t 6.8  181.0
6 A 11,009.4 21.3 26,0 17.6 30.7 11.4 78  227.5 69.3 15,1 3,2 78 8.5 176.8
7 A ]1,008,3 243 27.9 21.8 34.5 19.7 It 86 330.5 43.4 18,9 2.1 74 8.8 114.4
8 A |1,010.1 26.1 30.2 23.3 34.6 15.5 85 161.1 43.5 29.8 2.7 78 6.7 190.7
9 B [{1,012.7 20.3 24.0 17.6 29.8 12.9 L 81 538.9 74.0 18.0 2.9 P8 8.6 108,1
10 A |1,016.1 16.3 21.7 12.1 25,9 4.8 74 52.6 23.3 5.0 3.2 5.6 203.3
11 A 11,0209 12.4 17.6 8.1 21.1 2.1 72 67.4 23.2 6.3 3.4 7§ 4.4 199.8
12 A |1,018.7 7.3 11.6 3.3 18.3(—)1.9 71 80.9 22.7 6.4 4. 17HILAE 5.7  149.7

L 47 pil| = i
£ 4 11,0155 13.0 18.9 8.6 36.7(—)7.8 79 1,577.5 91.6 31.3 2.3 6.5 1,764.1
1 B 11,020.8 3.0 8.3(—)1.3 14.1(—)7.8 81 46.7 9.4 3.4 2.5 6.0 115.2
2. B |1,020.7 2.3 7.1(-)1.5 11.2(—)6.3 74 55,3 29.0 6.7 3.4 6.4 115.0
3 B |1,017.1 3.8 10.3(—)1.9 20.0(—)6.5 # 73 46.4 14.8 5,1 3.1 # 6.4 163.2
4 A |1,017.1 12,3 20.0 5.9 27.3(—)4.8 72 133.3 41,0 10.0 2.6 5.7 178.4
5 B 11,013.2 15.2 21.6 10.3 29.5 2.1 # 78  197.4 30.3 11.7 2.3 6.8 164.0
6 A |1,009,1 19.7 25.6 153 30.3 6.5 80 240.5 91,6 24.3 1.9 7.8  146.5
7 B 11,008.1 24.2 28,9 21.2 34.6 16.4 7= 86 264.4 74.3 31.3 1.5 7t 8.6 116.6
8 A 11,009.8 25.6 31.3 22.2 36.7 14.2 83 149.2 51,5 28.4 2.3 5.7 211.3
9 B 11,012.8 19.4 24,0 16.4 29.7 9.7 L 84 341.8 53.8 11.5 2.0 L 7.4 104.3
10 B | 1,016.6 14.7 21.8 10.0 28.0 2.2 82 22.8 4.7 4.2 1.6 6.3 172.4
11 B |1,021.6 10.1 17.7 4.6 22.5(—)0.2 82 72.8 23.4 7.6 1.7 5.0 149.8
12 A [1,019.4 5.6 11.2 0.6 17.2(—)3.7 79  64.4 23.7 7.9 2.4 6.1 -127.4
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g diie K&
N =
g M P A 8 & (@aE) &
BHORERE O FH
@@1%2?}‘3)&1’4}%’5%53‘7)&185"951oﬂ 118 |12 7
°C
b3 10.9 1.3 0.8 1.2 9.0 13.4 176 22.1 237 17.9 12.3 8.2 3,5
B ® 11.3 1.8 4.3 2.2 9.2 127 16.7 22,0 23.3 18.3 12.5 8.5 3.6
& il 105 1.0 0.3 0.9 8,7 12.4 170 21,8 233 17.6 121 8.1 3.3
E i 9.4 {—)1.3 (—)1.5 (—)0.9 5.9 10.3 153 21,2 22,2 16,4 10.0 4.6 0.6
Fry T = 9.4 0.1 (—)0.4 (—)0.3 7.8 11,6 15,8 20.4 22.2 16.6 10.4 6.7 1.6
| H Ll 10.4 1.0 0.7 1.0 8.5 12,4 17,0 21.8 23.5 17.6 11.6 6.9 2.6
= F 10.7 1.1 0.7 1.0 8.6 12,5 17,5 22,2 23.9 18,0 12,0 7.6 3.3
L7 B 10.8 1.5 0.6 1.2 8.8 12.8 17.5 21.8 23.3 17.8 12.4 8.1 3.3
Ly B 11,1 1.5 0.9 1.7 9.5 127 17.8 22,2 23.2 18.3 127 8.5 3.9
" & P 1.7 2.5 1.3 2.3 9.7 13.4 17.6 21.9 23.2 18.6 14.2 10.6 5.2
bl B 13.1 4.0 3.0 3.7 113 14,7 185 22,8 248 195 154 12.1 7.2
= B 10.0 3.0 0.3 0.7 8.6 11.4 153 20.5 22.0 16.6 12.1 7.5 3.2
B B 11.2 3.2 1.8 2.5 9.8 12.3 16,8 21.8 23.2 18.3 12.8 9.4 4.7
7'—\~ J 71; — 1' 2 2. 1 9, 9 12, Vi 14'7
4 =3 8.9 (—)0.6 (-—)0.7 (—)0.2 6.7 10.5 -~ 20.8 21,6 16.5 10.1 5.7 1.1
&’ /] — 0.1 (—)0.2 7.3 -+ 15,0 20,0 20.8 16.4 10.9 —
x ¥ & 9.0 (—)0.3 (—)0.9 (—)0.5 7.4 10,9 16,9 20.5 21.5 17.5 10.3 5.9 1.8
m o B 10,3 0.8 0.3 0.6 8.4 117 155 21.4 23,0 17.3 11.4 9.0 2.4
i R 9.7 0.1 (—)1.1 (—)0.5 7.3 11,1 15,3 21.2 22.5 17.2 11.3 8.2 2.0
— 2z @& 9.3 0.3 (—)1.0 (—)0.2 7.2 10,9 155 20,1 21.5 16.3 10,7 7.6 1.9
Ea) I 9 3(—0.5 (—)1.5 (—)0, 1 7.1 10,8 15,6 21.3 21.7 16.9 10.4 8.3 1.2
A B 9.8 (—)0.3 (—)0.9 .3 7.7 115 17.9 22.2 22,7 17.8 11.3 8.3 1.4
#k Jind — 4.0 — — 0.4 13,6 17.3 22.2 23,9 e 14,8 — 6. 4
= B P 11,7 2.5 1.6 2.5 9.9 12,4 16,5 21.5 23,0 182 13,9 11.9 5.3
o 4 9.4 (—)0.5 (1.0 (—)0.6 7.8 11.3 — 21.3 22.8 16.6 10.1 7.4 1.7
&3 7K =
é$l1HJZE’3HI4H‘5H\6)%}7H|8FJI9Hlm)ﬁ‘nﬂ‘uﬂ
mm

Py 1,831.0 30.6 64.8 69.9 109.7 212.2 205.0 253.0 148.4 530.4 66.6 V2.1 68.3
E % ['3,715.4 64.4 124.9 85.0 190.6 374.1 433.3 273.2 722.6 972.8 136.4 228.4 109.7
= W [ 2,005.0 34.3 74,8 79.2 144.7 214.2 227.4 330.5 160.1 538.9 52.6 67.4 80.9
E B 1 1,579.3 40.7 55.4 46,9 133.3 141.1 240.5 264.4 149.2 341.8 22.8 V2.8 64.4
Fr T = |2,659.3 59.2 81.7 66.2 241.3 233.6 310.0 502.2 359.0 581.3 54.9 67.2 102.7
™ H | 1,715.0 28.1 58.2 54,0 167.6 204.7 206.9 316.7 94.3 1396.3 54.8 60.0 73.4
=t F |1,933.6 28.2 765 57.9 167.6 210.7 230.9 248.1 251.3 451.4 58.7 73.8 78.5
2 B | 1,862.1 24.9 66,5 63.6 115.3 209.1 208.4 216.7 189.7 513.2 657 119.9 69.1
1 B |2,077.1 25,3 87.7 60.9 123.4 241.6 232.6 190.6 234.7 452.3 127.7 189.6 110.7
i} E 3 |2,317.6 26.7 106.7 58,2 150.7 307.2 266.7 221.5 285.1 434.6 115.5 186.0 159.0
b B |2.371.,5 50.3 99,1 586 157.6 234.0 255.1 335.2 348.3 415.7 67.9 221.1 128.6
= B | 2,407.1 33,4 111.2 63.0 130.8 218.2 275.6 235.2 374.7 564.0 1152 183.8 102.0
= B 73,2550 55,1 115.8 58.8 154.2 250.5 348.6 319.0 731.2 822.9 103.7 188.7 106.5
&K J N <A1 130.7 744 211.7 274.3 342.5
Za & | 1,883.8 54,2 63,4 50.6 123.4 212.8 228.4 263.1 276.3 412.9 36.8 Y757 86.2
plird UE -+ 51.3 30,1 -+ 90.6 -+ 229.3 274.4 518.8 647.7 51.2 .- e
X K A |3,473.9 41.0 86.9 102.3 148.2 341.3 303.5 259.2 671.61,133.2 105.6 182.4 98.7
= 2 | 1,932.3 29.4 58,8 . 48,7 148.1 200.4 256.3 2384.7 198.6 402.5 49.3 60.4 95.1
7H O B |2,092.0 3.0 73.3 63.3 176.4 225.2 255.7 395.2 182.6 494.0 39.9 57.7 97.7
W A 12,2122 23,9 81,0 59.6 98.0 124.1 195.2 139.9 570.6 647.6 59.8 143.0 69.5
B B 12,2288 41.2 67.3 70,8 130.0 220.3 215.6 218.2 417.5 577.9 50.5 119.4 100.1
i 7 12,0045 23.9 89,8 68.0 104.3 203.5 207.9 180.5 223.0 622.0 61.9 128.1 91.6
B | 2,821.6 27.7 93.4 741 149.3 216.0 231.8 176.7 643.5 863.9 85.2 158.8 101.2
2z W |2,732.7 33.8 114.0 87.8 155.9 286.7 340.2 201.1 342.2 ¥29.2 158.5 161.7 121.6
# | 2,854.5 70,5 97.8 75.6 218.1 1333.7 227.0 255.5 547.4 71l.1  64.1 149.5 104.2
B | 7,977.9 79.1 107.2 79.1 244.6 288.6 262.2° 233.5 610.2 741.4 73.2 169.4 92.4
Jiid - 27.6 - 126.4 227.5 234.4 225.8 317.8 - 138.7 -+ 166.8
E N . - 226.5 234.6 216.7 309.1 444.0 113.9 193.1 156.3
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Tiie s 9
2 - y—
#] B Bt B K & (B\mE) &
B XK & K H =
éﬁl}iZ»HISE‘4H15H‘6H‘7H‘8HQHIOH 118 | 12R8
mim .
B 73.5 10.4 27.5 38.9 21.8 45.9 50.0 453 250 73.5 42.8 20.6 21.4
E B 226.2 23.7 41.7 B1.5 37.0 82.7 110.5 56.4 169.2 226.2 85.3 70.6 45.9
& iy 74.0 8.5 26.1 39.7 28.9 57.2 69.3 48.5 43.5 74.0 23.3 23.2 22.7
£ 5 111.0 9.4 29.0 14.8 111.0 30.3 91.6 74.3 51.5 53.8 4.7  23.4  23.7
fRI T = 151.8 13.5 27.5 36.0 67.0 83.0 83.0 885 68.0 151.8 20.5 20.8 29.4
g H T 79.3 6.2 18.4 30.0 37.0 44.1 66.8 79.3 13.7 67.9 24.4 2.4 19.7
=i ¥ 158.0 9.4 27.5 31.1 42.2 45.8 719 37,9 158.0 90.6 39.5 25.5 24.0
7 B 79. 4 7.4 19.4 34.6 23.6 32.0 66.0 46.5 27.3 79.4 41.8 49.0 22.8
i 23] 95,0 9,0 37.0 28.5 22.6 60.1 60.8 44.1 88.7 60.6 95.0 60.3 45.7 -
" & 3 81.9 8.7 45.4 40.8 28.0 50.0 64.0 39.9 81.9 741 74,4 61.8 88.1
= B 206.4 15.2 31,9 32.8 28.3 79.8 49.1 V2.8 206.4 68.4 37.7 67.6 43.4
= &= 93.8 8.4 46.7 29.9 30.9 41.6 60.1 44.4 88.2 93.8 86.0 63.0 258
= & 133.2  18.0 43.8 34.9 25.2 66.2 83.9 59.1 133.2 131.8 74.8 65.7 31.8
i 7 N 117.0 4.1 40.0 40.6 110.6 60.3 94.7  47.7 117.0
g b3 83.4 11,5 19.0 16.0 20.0 350 834 59.0 50.0 60.6 10.8 26.0 27.4
td i 87.5 10.6 7.4 9.7 24.3 34.4 69.4 54.3 750 87.5 20.3
X ¥ B 217.3  10.2 35.7 52.3 28.3 112.0 66.5 60.5 152.0 217.3 69.9 55.8 312
= % 80.0 7.9 25,7 26.9 30.4 45.0 750 60.6 50.0 80.0 19.0 24.0 26.0
i S 5 84,6 11.8 28.2 350 359 60.0 8.7 680 557 84.6 17.4 23.7 255
e} AR 84.0 5.8 157 24.8 25,0 26.0 57.0 33.0 71.5 84.0 41.5 51.0 18.0
B B 80.1 9.3 24.5 12.0 28.0 37.6 48.2 450 67.0 80.1 30.7 32.2 42.2
JIi N 106.0 5.8 33.1 381 23.6 31.6 77.3 27.7 750 106.0 41.6 64.0 26.0
K A 153.4 8.0 42.3 47.4 3.4 62.2 79.4 39.2 144.5 153.4 54.5 64.5 30.7
- 2z B 116.0 10.0 24.9 47.7 29.9 61.7 103.0 27.3 53.2 103.0 116.0 74.1 33.3
H iR 138.5 23.5 28.3 40.0 50.7 40.5 81.2 69.1 99.5 138.5 29.5 39.0 27.5
A B 156.8 28.8 - 331 59.2 51.7 88.0 74.0 136.2 153.8 31.1 44.3 27.4
#k B —10.0 - 380 25.0 380 650 43.0 120.0 o 80.0 e 84.0
X B B 32,0 56.6 39.2 937 7.7 95.2 62.6 82.3
23 7K H (kB0 tmmpy |)
é@‘lH‘ZHISH4H|5E’6E‘7H‘8F]9}%'10)51 118 |12A
H 174 12 11 9 12 18 15 20 19 23 12 9 14
B B 179 8 12 9 14 18 17 21 22 28 11 8 11
=) 1 188 15 13 14 12 18 15 21 17 25 11 10 17
E g 190 16 13 17 11 18 13 24 19 22 12 9 16
g T E 176 12 12 17 13 17 14 22 19 22 8 9 11
! 2] bl 170 11 12 15 11 17 15 21 17 25 8 8 10
= F 153 9 12 11 10 17 13 17 15 23 8 7 11
F/ fiR 173 8 9 8 13 21 17 23 23 21 8 10 12
1l 2| 158 3 9 7 11 20 18 17 20 21 7 10 10
BmoE B 168 9 10 8 13 17 13 . 21 25 20 9 7 16
I = 150 9 10 7 13 18 12 19 14 21 5 6 16
= b3 162 8 11 7 12 19 17 20 20 21 8 9 11
=3 )= 149 6 8 6 11 16 14 15 18 26 8 9 12
x. 7 = 12 12 7 13 18 i 16 15
% i3 172 11 15 13 10 17 14 23 20 21 9 6 13
biid ] 12 16 9 11 13 13 20 23 23 6
* K 55 161 9 12 9 14 18 15 18 21 23 5 Vi 10
= % 158 12 9 13 11 15 12 20 17 21 9 8 11
10
[ G, 5 156 9 11 13 11 15 14 21 18 20 7 7
] AR 151 9 12 7 11 18 15 18 18 23 4 6 10
<k =3 173 14 13 13 12 18 17 21 21 22 5 7 10
- 2 & 156 7 11 7 13 20 17 21 18 20 5 8 9
EaR R 150 7 12 7 12 18 13 18 1Y 21 9 8 8
A i 163 8 12 10 12 18 13 21 20 22 9 9 9
Bk by 8 11 18 11 20 16 6 11
® B B 8 18 12 21 17 20 5 7 8
il # 12 10 11 19 14 23 19 21 8 7 12
#*x = 14 13 19 17 22 23 23 6 6 12




